## DR. BABASAHEB AMBEDKAR MARATHWADA UNIVERSITY, AURANGABAD - 431 004, Maharashtra State (India)

NAAC - Accredited A

(0240) 2403397 to 400 EPABX

(0240) 2403104 to 106 Off. Tele 1-

Registrar :- (Offi.) (0240) 2403333

(Resi.) (0240) 2400203 (0240) 2403113 / 2403335

Fax www.bamu.net Web Site

vc@bamu.net E-mail

registrar@bamu.net E-mail



UNIVERSITY CAMPUS AURANGABAD-431004 (Maharashtra) INDIA

Ref. No.U	UE/EM/2	2020-21/
-----------	---------	----------

Date: - 01/04/2021

## **INVITATION OF QUOTATIONS IN TWO BIDS SYSTEMS**

(Last Date for Submission 08-04-2021)

10.			
M /s: _	 	 	

## Name Of work:-Construction of Servant Toilet behind V.C. Bungalow in the premises of Dr.

Babasaheb Ambedkar Marathwada University.

I.NO.	PARTICULARS	QTY	UNIT	RATE	AMOUNT
1	Excavation for foundation in earth, soil of all types, sand, gravel and soft murum, including removing the excavated material up to a distance of 50 m. beyond the building area and stacking and spreading as directed, dewatering, preparing the bed for the foundation and necessary back filling, ramming, watering including shoring and strutting etc. complete. (Lift upto 1.5 m.) By Mechanical Means.(I.No.21.02)	16.97	СИМ	164.61	2793.43
2	Providing soling using 80 mm size trap metal in 15 cm. layer including filling voids with Crushed sand/grit, ramming, watering etc. complete.(1.No.21.40)	1.22	СИМ	1521.20	1855.86
3	Providing and laying Cast in situ/Ready Mix cement concrete in M-10 of trap/ granite/ quartzite/ gneiss metal for foundation and bedding including bailing out water, Steel centering, formwork, laying/pumping, compacting, roughening them if special finish is to be provided, finishing if required and curing complete, with fully automatic micro processor based PLC with SCADA enabled reversible Drum Type mixer/concrete Batch mix plant (Pan mixer) etc. complete. With fine aggregate (Natural Sand / Crushed sand VSI Grade finely washed etc) (I.No.24.01)	0.79	Cum	5117.39	4042.74
4	Providing and laying Cast in situ/Ready Mix cement concrete M-20 of trap / granite /quartzite/ gneiss metal for R.C.C. beams and lintels as per detailed designs and drawings or as directed including steel centering, formwork, cover blocks, laying/pumping, compactionand roughening the surface if special finish is to be provided and curing etc. complete. (Excluding reinforcement and structural steel). with fully automatic	0.86	CUM	9951.40	8558.20

8	i was easter hared DLC with ECADA				154
À	micro processor based PLC with SCADA enabled				
	reversible Drum Type mixer/ concrete Batch mix plant				
	(Pan mixer) etc. complete. With fine aggregate (Natural				
	Sand / Crushed sand VSI Grade finely washed etc)				
G.	(I.No.25.50)				
138	Providing and fixing in position TMT - FE - 500 bar				
	reinforcement of various diameters for R.C.C. pile caps,				
	footings, foundations, slabs, beams columns, canonies				
	staircase, newels, chajjas, lintels pardis, copings, fine				
5	arches etc. as per detailed designs, drawings and	0.09	MT	65616.18	6207.29
	schedules, including cutting, bending, booking the bars				
	binding with wires or tack welding and supporting as				
	required complete.(I.No.26.33)				
16	Providing and fixing 100 mm dia stabiliser pipe/ P.V.C.		-		
	soil vent/waste pipe and with necessary fixtures and		1		
6	fitting such as bends, tees, single junctions, slotted vent,	10.00	Rgm	683.62	6836.20
	clamps etc. complete.(I.No.42.52)		"		
	Providing second class Burnt Brick masonry with				
100	conventional/ I.S. type bricks in cementmortar 1:6 in				
7	superstructure including striking joints, raking out joints,	7.60	CUM	7524.89	57189.16
	watering and scaffolding etc. Complete(I.No.27.05)				
	Providing internal comput places 12 - 11 - 11				
	Providing internal cement plaster 12mm thick in single coat in cement mortar 1:5 without neerufinish to				
8	concrete or brick surfaces in all provides	26.66	SQM	247.57	6600.22
	concrete or brick surfaces, in all positions including	20,00	- Q	2	0000.22
	scaffolding and curing etc. complete. (I.No.32.02)				
	Providing sand faced plaster externally in cement mortar				
	using approved screened sand, in all positions including				
	base coat of 15 mm thick in cement mortar 1:4 using				
9	waterproofing compound at 1 kg per cement bag curing	31.00		(16.42	20/21.12
7	the same for not less than 2 days and keeping the surface	31.90	SQM	646.43	20621.12
	of the base coat rough to receive the sand faced treatment 6 to 8 mm thick in cement mortar 1:4 finishing				
	the surface by taking out grains and curing for fourteen				
	days scaffolding etc.complete.(I.No.32.11)				
	Providing and fixing white glazed earthenware Wash				
	Hand Basin of 45cm x 30cm size				
	including cold water pillar tap/cold and hot water pillar				
No.	tap brackets, rubber plugs and brass				
10	chain, stop tap and necessary pipe connection including	1.00	Nos	4941.58	4941.58
	P.V.C. waste pipe and trap up to the				
	outside face of the wall. Making good the damaged				
	surface, testing etc. complete(I.No.41.64)				
Street on	Providing and fixing European type white glazed				
19-75	earthenware water closet pan with UPVC				
	seat and lid with chromium plated brass hinges and				
200	rubber buffers including UPVC and vent				
1	pipe up to the outside face of wall without flushing	1.00	N	0672.41	0672 44
11	cistern with flush cock and with water Jet	1.00	Nos	9672.41	9672.41
	and necessary fittings including cutting and making good				
100	to the walls and floors testing etc.				
MALE.	complete.( prior approval of sample and brand by Ex.				
BASS.	Engineer is necessary before use).(I.No.43.2)		,		
889775	Providing and Fixing 32 mm thick One piece single	2.94	Sqm	4355.47	12805.08
12	moulded puff ABSTRONE BUTADYNE STYRINE	2.74	oqiii	1000.47	12003.00

Scanned By Scanner Go

	(ABS) Door shutter for internal use including toilets made up of outer ABS sheet of 1.2 mm thick having puff insulation of 35 to 40 Kg/Cum.density and 10 mm dia.for steel bars 2 Nos., wooden block to receive fixtures, having M.S. hinges 100 mm length, M.S. handles 150 mm length and 10 mm dia sliding door bolt etc. complete(l.No.39.80)		ln	vitation to Quote Rati	es 2015-16 (store) 155
13	Providing and fixing mild steel grill work for windows, ventilators etc. 20 kg/sqm as per drawing including fixtures, necessary welding and painting with one coats of anticorrosive paint and two coats of oil painting complete)(I.No.40.01)	0.41	Sqm	1602.11	656.87
14	Providing and fixing in position powder coated aluminium louvered windows / ventilator of various sizes with powder coating as per detailed drawing and specifications including aluminium frames 80 x 38 mm x 1.22 mm box type, 5 mm thick sheet glass louvers, of approved quality etc. complete(I.No.39.68)	0.41	Sqm	2799.50	1147.80
15	providing and applying Two coats of wall care Putty on plastered surface and Ceiling and Walls to prepare surface even and smooth of approved make, etc complete(I.No.32.34)	13.27	Sqm	84.93	1127.02
16	Providing and applying priming coat on concrete/ masonary/ Asbestos Cement plastered surfaces including scaffolding if necessary, preparing the surface by thoroughly cleaning oil, grease, dirt and other foreign matter and sand papering as required etc. complete(I.No.35.21)	13.27	Sqm	31.46	417.47
17	Providing and applying plastic emulsion paint of approved quality, colour and shade to old and new surfaces in two coats including scaffolding, preparing the surface. (excluding the primer coat)etc. complete(I.No.36.12)	13.27	Sqm	69.73	925.32
18	Providing structural steel work of rectangular hollow steel section for steel trusses, other similar trussed items like purlin and members with all bracing, gusset plates etc. as per detailed designs and drawings or as directed including cutting, fabricating, hoisting, erecting, fixing in position making riveted/bolted/ welded connections and one coat of anticorrosive paint and over it two coats of oil painting of approved quality and shade complete.  Spec. Number: As directed by Engineer-in-charge.  (I.No.23.11)	0.01	МТ	97038.68	970.39
19	Providing and fixing corrugated galvanised iron sheets of 0.63mm thick (24 B.W.G.) for roofing without wind tiles including fastening with galvanised iron screws and bolts, lead and bitumen washers as per drawing etc. complete.(Weight	6.00	SQM	814.68	4888.08
20	of 5.5 Kilogram/sq.m.).(I.No.38.04)  Providing and constructing Brick Masonry Inspection Chamber 60cm x 45cm x 90cm including 1:4:8 cement concrete foundation 1:2:4 cement	3.00	Nos	12654.35	37963.05

	1 1 10		10	hvitation to Quote R	ates 2015-16 (store)
	concrete channels half round				156
3	a c W nipes, Brick Masonry, plastering from incide and 1		- 1		
	airtight C. I. cover of				
	75Kilogramwith lid and frame fixed in cement concrete.				
10	(1 No.42.10)	- 1			
	Providing, laying and fixing jointing Eco-drain 160				
	mm SN 4 Nu- Drain Upvc pipes or of			- 1	
	equivalent make, manufacture as per EN 13476 or				
	equivalent as per 1.S.15328 with fittings			1	
21	such a bends, tees, coupler, etc, jointing with rubber	30.00	RGM	547.32	16419.60
	lubricant including necessary		KOM	347.32	10117.00
	excavation, trench refilling with selective excavated				1
	materialetc. complete.				
	(I.No.43.31)				
	Providing and fixing 15 mm dia. screw down bib/ stop				
22	tap of brass including necessary socket union nut	2.00	Nos	566.19	1132.38
Barry.	complete.(I.No.41.40)				
	Providing and fixing 10cm C.I. Nahani Trap including				
23	C.I. grating bend and piece of C.I. pipe upto the outside	1.00	Nos	1157.54	1157.54
1972	face of the wall complete.(1.No.41.80)				
BOX S	Providing and laying matt finish ceramic tiles of having				
	size 30 cm x 30 cm confirming to I.S.15622/2006 (group				
24	D II-A) and 7 to 8 mm thick for flooring in required	2.81	SQM	1145.38	3218.52
24	position laid on a bed of 1:4 cement mortar including				
	cement float, filling joint with white/colour cement				
	slurry cleaning curing etc. complete.)(I.No.33.24)				
	Providing and laying ceramic tiles having size 30 cm. x				
	45 cm. confirming to corresponding I.S. for dado and				
	skirting in required position with readymade adhesive	14.25	SQM	1237.64	
25	mortar of approved quality on plaster of 1:2 cement				17636.37
	mortar including joint filling with white/ colour cement				
	slurry cleaning curing etc. complete.				
	.(I.No.33.26)				
26	Royalty against extraction of material such as metal,	5.89	CUM	141.34	832.83
	sand, murum, rubble, etc. for construction work.	3.07	100111	141.54	
Resilen	Estimated Amount	-	-		230617
BEER	Quoted Rates in figure	-	-		
	Quoted Rates in words				

The Terms & Conditions on the reverse should be read carefully and noted in order to comply with.

Scanned By Scanner Go

## TERMS AND CONDITIONS

- The quotation should be addressed to Registrar, Dr. Babasaheb Ambedkar Marathwada University, Aurangabad.
- The Contractor should provide following document at the time of submission of Quotation: (A) ENVELOPE NO. 1 DOCUMENTS)

The first envelope "Envelope No.1" shall contain the following documents of civil contractor.

- Copy of Certificate in Original or an attested copy thereof duly attested by Gazetted Officer as a registered contractor with (a) State P.W.D. (b) State Irrigation Dept. (c) Maharashtra Jeevan Pradhikaran Authority, (d) Municipal Corporation etc. I M.I.D.C. in appropriate class as may be applicable of civil, valid on the date of submission.
- II. Copy of Income tax return assessment FY 2019-20, i.e. AY 2020-21 or bank statement 2019-2020.
- III. Copy of pan Card.
- IV. Copy of valid registration certificate under good and service tax Act 2017 or provisional GST No. issued by competent authority. This certificate should be valid on the date of quotation opening.
- SGST and CGST has been implemented by the respective Govt. with effect from 01/07/2017. So
  contractor must quote his rate keeping effect of GST in mind & no claims will be accepted by this
  office in connection to GST later.
- 4. The successful bidder has to submit all the supported documents/ bills/ vouchers of the materials brought at site while claiming the bills.
- The security deposit of 5% of quoted cost will be deducted from bills. Security Deposit will not carry any interest.
- 6. Dr. Babasaheb Ambedkar Marathwada University, Aurangabad does not bind itself to accept the lowest or any such quotation and has the right to accept or reject whole or any part of tenders or a portion of the work without assigning any reasons. No correspondence in case of rejected tenders will be entertained. Incomplete quotations are liable to be rejected.

All questions, disputes or differences arising under and out of or in connection with the contract, if concluded, shall be referred to the sole arbitrator appointed by the Registrar, Dr. Babasaheb Ambedkar Marathwada University, Aurangabad.